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��������������� ���������� ������ ���� �������� ������� ��� �� ������� � ������ ������������
�������� ��� ������� ��������� ����������� � �������������� �� ��� ������ �� ������������ ����
�� �������� � ������ ���� �������� ����� ���������� ������ ����� ������ �� ����� ������ ��������
������ ��� �������� ����������� ��� ��������� ��� ��� ����� �� ����� �� ������� � ����� ������ ����
��������� ��� ��� ������������ ������ ����� ��� ��� ���� �� ������ ��������� ���� ��� ������ �������
����� ������������ �� �������� �� ������� ��� ���������� �� ����������� �������������� ��������
������������ ��������� ���� ���� ���������� ������� ��� ���������������� ����������� �� ��������� ����
�������� �� �������������� ���������� �������� ���� ����� ������� ��� ������ ���� ��� ����������
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x ∈ R

������������������

y ∈ [0, 1)
�������������������������������������������������
y = g(x)

Γ ∈ R
+

������������������������������������������
���������

ξ ∈ [Ξ1, Ξ2]
�����������������������������������������
��������

a ∈ R
+

�����������������������������= a
4
�

b ∈ R
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� ��������������������������
� �������� ������� ������� ������ x(0) � a(0) �

b(0) ��� ��������� ������ �� �������� �����
�������������������������������

� ����������������������
�Δt = 10−1

� Γ = 1
� εa = 10−2

� εb = 10−2

� ��������� εa ��� εb ��� �������� ���� ������
�����������������������������������
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� ���� ������ ������ ���� ������������ ��������
������ ���� ������� ��� �� ���� ��� �������
�����������

� �������������������������������
� ������ ������� ��������� ��� �������� ��������
�erf � tanh � arctan � ����� ��������� �����
������

� ����������������������������������������������������������
� ����������������������������������������
� ������������������������������������������������������������������
� ����������������������������������������������������������������������
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� ������ �������� �� �������� ���� ��� ��� ���������� �� � �������� ��������� �������������� ����
���������������������������������� ������

� ��������� ��������� �������� ����� ��������������� ����� ������� ��������������� �����
���������� ������������������������������������ ������

� ��������� ��������� �������� ����� ���������� �������� �� ���������� ��������� ������
���������� ��������������������������� ������

� ����� ������� ��������� ���������� ������ ������� ����� ���� �������� ������ �� ����
�������� ������������ ������������� ��� �������������� �������� �� ��� ������� �������� �����
������������������������������� ������

�������� ����������� �������� ����� ��������������� ���������� ������� �� ��������� ������
�������������� ���������������

ẋ(t) = −Γx(t) + ξ(t)

⟨ξ(t)ξ(t′ )⟩ = Qδ(t − t′ )

g(x) =
1

1 + e−a(x−b)

H(q) = − ∫ dy q(y) ln q(y)

q(y) =
1

2πσ2− −−−
√

exp(−
(y − µ)2

2σ2
) ∝ exp(λ1y + λ2y2)

DKL(p, q) = ∫ dy p(y) ln
p(y)

q(y)

∂DKL

∂θ
= ∫ dx ρ(x)[− 1

g ′

∂g ′

∂θ
−

q′

q

∂g

∂θ
] ≡ ∫ dx ρ(x)

∂d

∂θ

δa = ϵa[ 1
a
+ (x − b)[1 − 2y + (λ1 + 2λ2y)(1 − y)y]]

δb = ϵb[−a(1 − 2y + (λ1 + 2λ2y)(1 − y)y)]

x(tn+1 ) = x(tn) + ẋ(tn)Δt


